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PART-1

BOOKLET

CHILD DEVELOPMENT AND PEDAGOGY

Sumanth is efficient in doing | 8,

Mathematics. But he is not efficient
in playing chess. This is an example

(1) variable individual diéﬁ&r&ncﬂ!
{2) interindividual differences

(3) intraindividual differences
(4) constructive individual

differences

Aol TRt o AR, T DSt
(25) e et g0 Al arinlies ...
(1) o pucds dores

(2) wobtd Pores 4

(3) H5on0 ondy o
(4) Soner¥ 2ok fow
There are ten studentainaprim.ur:{

school. As per the RTE Act—2009,
the number of teacher/teachers to be

Yot DorgrEn D9e-2009 @Exdo
(1)1
(2) 2
(3) 4
(4) 3

W-801/TET-111-EM/TM , (2}

Secretion of the f'uﬂu;l'iﬂg gland
directiy affects our emotions.

(1) Adrenal gland

(2) Pituitary gland

(3) Parathyroid gland

{4) Thyroid gland

51 o) oot Brsio e B S
Sgrde Lol

(1) elsps, fiel

(2). Satiars, fod

(3) Sty ool

(4) eses ol

One of the following is naot a

characteristic of a mentally healthy

person.

(1) Having social maturity

(2) Having emotional maturity

(3) Self-discipline

(4) Lives in his own world of
imagination and fantasy

Ha o8 ol arliisom esthiom & 5

el TOB.

(1) Srcluol SO%0 DAt
(2) ada S0sks MDAcot

(3) Syos (0t
(4) B 5o BaitEes Sobatin Bopus'

)
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5. Teacher blamed Raju for not

completing homework in front of
other students. After coming home,
Raju shouted at his sister for no
reason. This comes under ..............
(1) identification

(2) repression

(3) displacement

{4) regression

Ere qod S 0 Sctiietion SdRrcingy
FBU Sorglipo tuoll Wwolillomtly. goud
i BEEPD O eslewe S J0eD
TS, 30 |

(1) by stetio

(2) SR

(3) Do

(4) pdrasR

An experimenter wants to study the
impact of computer-aided
instruction on the achievement of
students. Here the dependent
variableis ...............

i1} achievement of students

(2) computer-aided instruetion

(3) lab environment

(4) experimenter

¥ SArY oG B Syl opts
B85 0N, FEricis widinie Doirei
By, 5,5 SO 20D 111 rvenvees
(1) Dorgtm Svalss

(2) Syl epron &

(3) PaNeo 3850

4) By

(]
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One of the following is not an
attribute of the project method ...
(1) Series of activities"involved

(2) Learning by doing

{3) Unnatural

{4) Learner centered

&1 3o S B 5503 Seneleunl.
(1) Stssr Homes gRud dowhas

(2) Do i sfpiinis

(3) estimesice

(4) wergad Sofpucay - -
]I!Iishanth learnt a set of 20
meaningless words in ten attempts.
After one week, he was asked to
relearn the same set of words. This
time, he took only four attempts.

His saving BCoTe 18 ....oeeeeeecanns

Tred S0 Soiboyed 20 eileg Soretic
TP, L o B wd SR
Sabos S, 660 M e
[0 -2 T
(1) 50%
(2} 40%
(3) 14%
(4) 60%

P.T.0.



10.

W-801/TET-111-EM/TM

WWW. previouspapers.in

In Pavlov's experiment, the

extinction of conditioned response is

duetoanthe ................

(1) absence of unconditioned
stimulus

(2) absence of higher order
conditioned stimulus

(3) presence of higher order
conditioned stimulus

(4) presence of unconditioned
stimulus

FECE BArned’ Duolh PiHeNs

(2) eyt o Duchin albu Sadhate
(3) i 0 Deochi GO Sotilio

(4) Deyeoali S5 Sotis

Author of the book, "Mentality of

(2) Kohler
(3) Thormdike
{4) Pavlov

Docarbal e DBy ol Bows ............
(1) 25
(2) 5%E

(3) PGB
(4) 2565

(4]
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"Déjavu"isalan ...,
(1) Greek word

(2) English word

(3) French word

(4) Latin word

(1) diees 3250

(2) esofistse
(3) Povdte
(4) eSS0

Food and sleep come under .............
(1) safety needs

(2) physiological needs -

(3) self-actualization needs

(4) love and belonging needs

(1) s usisores
(2) oo estiomes
(3) ety S wdTre

(4) e Sebolin S onclis slbore
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Savithri doesn't understand
Sanskrit, but she can tell the
‘Slokas’
effectively. The memory of Savithri
in learning Slokas is........c.cccococo.
{1) rote memory

(2) logical memory

(3) sensory memory

(4) passive memory

FDD sedyord ege SRst Soo =0

Grsbes™ Fsuoio o e,

Fiioooiio egpoinnd’ PO, 900

(1) s

2) oo

(3) ey

(4) Dy cind S oD

One of the following is not correct.

(1) Raven's Progressive Matrices —
Nonverbal test of intelhigence

(2) Army Alpha Test — Group test
of intelligence

(3) Bhatia Test Battery .-
Individual test of intelligence

{(4) Weschler intelligence scale for
children — Group test of
intelligence

in 'Bhagavadgita’

&+ 308 & 30 TR0,
(1) Ty BTS2t - s hup 90

- (2) el esery T - salny ey 58y

(8) el 83 engeal - Saisds g 3y
(4) 2hy moubES 58 56 g -
el e 30y
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15. Earlier learning interferes with

present learning. Itisa
(1) regression

{2) repression

(3) proactjve inhibition
(4) retroactive inhibition

R eseirSed pShl el i esioclf iiiiol,
(1) porse

(2) sasse :

(3) sy el

(4) 8B et d
Thorndike's theory of trial and error
learning is also known as .............
(1) R—type learning

(2) Instrumentalism

(3) Cat's theory

{4) Connectionism

PHES By, clioty-T opiani; qe°

(1) R-t@o e

(2) oo e

(3) SE oo

(4) Begrarse

The Intelligence Quotient of a boy
is 45. He may be classified as .........
(1) an imbecile

(2) an idiot

(3) gifted

(4) a moron
¥ zrend) feod 46, wBDD Ue Do

MBS s

(1) wof) dnfoto
(2) mamgatis
(3) Pgrbotiod
(4) eenpol Sooris
: P.T.0.
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18, Generally, VAKT method is used

children with learning

disabilities. Here, V means ...........

for

{1) Vocational
(2) Verbal

(3) Valuable
(4) Visual

et Pao e 03 Sctienare VAKT
(1) Spbesceetmss

(2) oSS

(3) Desps

(4) Eplsotsctsd

19. The main purpose of assessment for

(1) how to teach
(2} what to teach
(3) when to teach
{4} why to teach

20, The type of leadership in which

the decisions are taken by a leader
AlNEe 18 ......ccinnisansns

(1) autocratic

{(2) democratic

(3) laissez faire

(4) permissive

W-801/TET-111-EM/TM

21.

[6]

BOOKLET @

B4 DR Triained’ TrcbEnes LBE
(1) Dok el

(2) e, Troisilee

(3) Pl b rcsig

(4) easedsl i

One of the following is not a behavior

problem.

(1) antisocial behavior

(2) violent and destructive behavior

(3) self injured behavior

{4) getting
examinations

T 200 PO LI G Sas, T

(1} sSoyo bt g

(2) sEamss, Soovie 35 BuG

(3) 658 Begyee BADCHEED S555

(4) bpos® oy 3 s e BapSioue

Education, social security comes

less marks in

_ under this category of child rights.

(1) Right to live
(2) Right to develop

" (3) Right to freedom

(4) Right to safety

D5, e B 6D oo iy o6 S8
whatess® doaraas.

(1) #0e iy,

(2) esdiny Dol ity

(B) Sy Spaty,

(4) s ooy,
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One of the following is not the

guiding prineiple for curriculum

development as proposed by NCF-

2005.

(1) Ensuring that learning shifts
away from rote methods .

(2) Connecting the knowledge to
life outside the school

(3) Making examinations more
flexible and integrating them
with classroom life

(4) Learning centers around the
texthook '

i Sy BSreess Swe-2006 Sets
x5, e OB Iio i impred €0,
(1) exgissiod® o s Bbecs Dgdetts

(2) iy Sete wains, S0oeRd
e Wil

(3) ﬁpwﬂ@mmmﬂ
it -

(4) n@ammmm

One of the following iz not the

characteristic of learning.

(1) Learning is universal .

(2) Learning involves cumulative
improvemnent

(3) Like g‘mwt:h,lﬁammgalmampu
after a developmental stage

(4) Learning depends on physical
growth and mental maturity

W-80/TET-111-EM/TM

(1) ogpsoe MOS0

(2) egpsrndtodd e dowed

(3) Birote ool Do Ll DEaiars
wnZFoool

(4) egisss i dlidkse, Aty S0ed
D escriisd Sopsel

Nondirective counseling is also

(1) client centered counsaling

(2) problem centered counseling
(3) counselor centered counseling
(4) eclectic (mixed) counseling

| eI Soobriie 0° UG woant:.

(1) Sesbcind Sofs SoofBesias

(2) Suey 3008 SooBein

(3) PRpEIops SoeBem

(4) Mrsres (oo Soojbesio

One of the following is a teacher
centersd muthnd

(1) Problem solving method

{2) Heuristic method

(3) Lecture-demonstration method

. ({4) Project method

G (Job o i) adrgroaiy Solie 550,
(1) Sy 50 U 553
(2) eilppm
(B) dismgs Gt SGb
(4) |SeBrg 5D
P.T.0.



WWW. previouspapers.in

27. Oneofthe ﬁ:-llluwi.n.,g is not a principle

of development.

(1) Rate of development is uniform
in all stages

(2) Development iz a continuous
process

(3) Development can be predicted

(4) Development is cumulative

ded dE® Dot e TR,
(1) Dovie el Seed” o3 Do dousch
(2) Dzse DS i

(3). Sy wrridstel Sog
(4) S=rde Sol a0

A child is playing, dressing and
talking with the dell, thinking that
it has life. The child is in this stage
of cognitive development.

(1) Pre-operational stage

(2} Sensorimotor stage

(3) Formal operational stage

(4) Concrete operational stage

vl T e FiEnE dhlaipue Bed,

ol et Fousyh, sociiph Sodd |

PR, B Y ey IR TR
&5, s :

(1) s Horol e

(2) oDl el &6

(3) etory Soros S

(4) Sy el S
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29, According to Kohlberg, the moral

development in most percentages of
individuals does not develop above
this level.

(1) Pre-conventional level

(2) Pre-moral level

{3) Post-conventional level

{4) Conventional level

S60b pmte Jins o Hytbes potom
4 ool JooD DD,

(1) Gt oo aa

- (2) e oY P

(3) &O6 rooroig Spax,

(4) a-ngu-diﬁ_:;uu

Chomsky proposed a theory for .......
(1) moral development

(2) language development

{3) mental illness

(4) mocial development

(1) pexedpd
(2) padapl

(3) S G

(4) Skt i
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PARTL sookLer (@)

31, sueddumes 5 voores Hasled! - 4

e,
(1} [oergs 5o
(2) RoggEge
(3) worgEoEe
(4) SngEogo
32, 20y DIESERADS SoERDes.
(1) By
(2) by
(3) Sy
(4) fey
33, Gooles e S0 elo.

(1) Sdmores
(2) ghoere

(3) Sedshes

(4) Fretotes

W-B80UTET-111-EM/TM
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3. ol SR DEEEed O 508
Pgse.
(1) ey &
iﬂ}wﬂmﬁmm
(3) =bp B 50x

(4) e e

35. DU, ety - el Sopoiay 0L oS

e,

(1) St esffstions
(2) &0 Fstos
(3) D ctiaffistists
(4) bor fstots
36. , SSEITP DI - T 500 Dol
(1) ordecmias
(2) Pordiorrotioes
(3) esipoctis |
(4) orgicres

P.T.0.
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37-42 &1 300 fovgd, SSSod. 37 iod 42 S o Siel SSrErares Njeted.

S0 ETm HErEnRs st B35 16 5 jorped’ mietl®d Ty Sektomis. ol
esctissy DI IO tosiorsoiie. T e MEND 000D esclish il Sbt el
Ty, O i BOE TR0 SO JHETR. gobEr SnCl TS K. R woll
e R 5, O, S 6408 A Hoyw Jouiolims, swsSed ¥
A EF 0103 Bee D3 a0 R Eyion om0, G0, Motk EDe orres B

| iscgdE® S0e3Ry DEotue DO bt Sy PIBMED D55 Troe. wotid wdis
S 5 s ooe et oo S BN, 10k M Tl el yied
ey S50 307y e it 5O 0 650 50, LS St S0, POk S, B
5 e grio SDA Soliixe 1 BooE e Digibe Moo 3o L.

37. Sonslegiie’ 6% Sy 40, U0 u Miagyes Sl meo
C(1) gt (1) rdin Solnto
(2) o (2) gusthys
(3) Hottingis (3) by 080
(4) s i (4) edmte
38, Sy’ - eeld 41, SESpHe GON Homsiio HabIoctors.
(1) Sraspets Shes o : (1) e
(2) arspeo Sodcd T (2) sosps
(3) arspe St HGAG D (3) Bty
(4) Sripein Bl Pl ; Jekome 3
39. +m:,ut:ﬁ+g-::g 42, Iy - etio DS Sapeiitio
(1) ooy (1) Seompiss
(2) sffa (2) S
(3) o (3) o
(4) cudo b (4) 580

W-801/TET-111-EM/TM [10]



WWW. previouspapers.in

BOOKLET @

43-48, 308 3or; Diel. 43 Dol 48 DU o e Surgrra rogoucd.

0 iRyt Selenge
S ot ol
i
SOgasa B, SOyGing TS
43, Tis5etund’ - el SNISCEEGS | 46, i Tl woPEteR ey
(1 e 50 $PDCHS
(2) D5 (1) todeda
(3) Spiss (2) $i5a0
@ bowo (3) s
44, DG - eto B3 el (4) qegaes
(1) Spod® Bps 47, DTS - e BeogRth Boo
(2) 20y Sttt .
(3) wssee (1) G55 Mvciire
@) wsde (2) 968 dea;
45, rueTEha - e Sesant befiaim (3) A )
(1) st + chlaott (4) 2ol SRop
(2) sies « L7 48, reEn’ - e SO0l Sovdh o
(3), sveien + s (1) Boiiboiion
(4) SnCesity + claitio (2) et
(3) &
(4) orasFaow
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(1) St oo & dod
(2) o ecsiach
(3) e bmrwe & et
(4) B3, oo & diol
Tpes St nne’ - ol
(1) Rssrss oncsso

(2) Jnond Setintza

(3) pes B Fiwe

(4) Tpes oenele

el Ber - oo Dtisdo No B0

51 SH SeTTrCses
(2) Syt
(3) e

(4) Seiow Shrordioes
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52, ‘esclind BOM Sh¥ Of Bars' - ©

ol dob i Sodn 30

(1) frooe 3oy Suh

(2) graove widarss Soi

(3) mmwm
(4) 5,00 gtme ssaoms s
P - ek SCPRA e Tokhs escpen,
(1) ey, iz

(2) o, =5

(3) o, S

(4) eres, pa

oo, wis, &8, S - Sore Wi (e
(1) Seiion, waDO, Sa, Wt
(2) S, es20, Sojios, 3o
(3) w8, Bkio, B, wXb
(4) B, ok, Suion, el
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METHODOLOGY ST @
56, Soni: ANNIerld SOIRGe 58, Iugh Beeds Sairds® Snd dods B
(1) Epien Sl somes
(2) syony Sgees (1) St wisscres, G
@) Fouoe (2) oot sigives, Cperes
(4) Shormra (3) oredatic wiisoren, Gtherus

58, Sbers oo Wi D Fivmes T o (4) Sl siiiomes, Hihere

Dol - ey Tt 59. dorgpd' o gl dodobomrad
(1) 25D Bojtiatis Sortsala
(2) o D, oes (1) orgsties S5
(3) o auls. oorgies (2) s %
(4) Soier ol (3) e &b
57. BhumeEbpoenbdelusons | (4) RO
(1) 535850 (1) egisio
(2) Sy S (2) Dorg Breds
(3) 503850 (@) sarenesse.
(4) @ dwo0 (4) &%
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61.
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Identify the second person's

response.

Person 1 : Didn't you go shopping
?rasterd.ﬂ}f?

Person IT :

(1) No, I did.

(2) Yes, I did.

(3) No, Ihad done.
(4) Yes, Ididn't.

Choose the correct pair of words to
fill in the blanks.

WOU ....coveeer. 0M holiday?
(1) Was............was

(2) Were . Were
(3) Were ........... was

{4) Was............. were

Identify the correct question to get

the answer given.
Cuestion: ...

Answer : She has been here for
two years.

(1) How long did she live here?

(2) How long she has been here?

{3) How long has she been here?

{4) How long will she be here?

(14]

64. Identify the correct pair of words to

fill in the blanks.

1T B — rice. Buy
................ wheat.

(1) any. SOMe

(2) any... any

(3)' some ...1..... BOTDE

{4) some ......... any

Jack's mother is 54. His father is 69.
So we can compare their ages as ...

(1) Jack's father is much older.

(2) Jack's mother is much younger.

(3) Jack's parents are older than

_each other.

(4) Jack's mother is much younger
than his father.

Leela to Rita, "Please help me with

my homework”.

If you report the sentence correctly, |

you will get :

(1) Leela told Rita to help with the!
homework. .

(2) Leela ordered Rita to help her
with the homework.

(3) Leela requested Rita to help her

" with her homework.

(4) Leela asked Rita to help her with

homework.
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67. Identify the correct word to fill in the

blank.

He eats banana every

MOrning.

(1) a

(2) the

(3) any

(4) an
Identify the correct word to fill in the
blank.

You're wasting a lot of time watching
TV. You ................concentrate on
your studies.

(1) will

(2) may

{3) ought

(4) must

'She likes mangoes.'

If you change the sentence, into the
negative correctly, ].nnu will get :

(1) She does not like mangoes.

(2} She will not like mangoes.

(3) She don't like mangoes.

(4) She does not likes mangoes.

Euuﬂm@

70. 'Aliis taller than Rahim.' .

71

[15]

If you change the above sentence
into the positive form correctly, you
will get

(1) Rahim is less tall than Ali.

(2) Rahim can be as tall as Ali.

(3) Rahim is not so tall as Ali.

(4) Rahim is as tall as Ali.

Tasntaly the meaning F1ho phirass
underlined in the sentence.

The teacher gave out the books.

(1) sold

{2) purchased

(3) counted

(4) distributed

Identify the meaning of the phrase
underlined in the sentence.
Mohin takes after his mother.

(1) resembles

(2) likes

(3) admires

(4) dislikes

Identify the correctly-spelt word.
(1) acommeodation

(2) accommodation

(3) acomodation

(4) accomodation
P.T.D.
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4. Choose the correct word to fill in | 77. Identify the passive form of the
the blank. siasipina
. Somebody has stolen my purse.
John is afraid ................ dogs. . :
; (1) My purse is stolen by somebody. |
(1) of (2) My purse has been stolen by
(3) My purse had been stolen.
() 0 (4) My purse have been stolen. _
(4), towards 78, Identify the word(s) to fill in the
75. Choose the correct form of the verb . i
" iy I'm very tired. I .................. e down
to fill in the blank. for an hour.
Small boys ...............ice cream. (1) am going to
(1) will liked 4 meed
' (3) am willing to
(2) likes (4) can
(3) are liking 79. Choose the correct word to fill in the
(4) like blank.
XYZisn't an old town. ................ any
76. Choose the correct form of the verb old buildings.
to fill in the blank. (1) ‘].1:"!1'& is no
Sarah go h bicycl & -
ah goes everywhere by bicycle, ) aren't
=11 1 - a scooter. (4) Are there
{1) has no 80. What prefix should you use to make
'its ite?
{2) haven't got et
(1) Un-
{3) hasn't got (2) Dis-
{4) is not having (3} Anti-
(4) Non-

W-S0L/TET-111-EM/TM [16]
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&1 to 84 : Read the following passage carefully and answer the questions

given below it.

81.
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Long ago, a king named Manunidhi Cholan had a bell installed outside his
palace gates, to dispen IEEjllEti.l.‘.E.

Hml.r astonished he was, when one day, a cow pulled the cord of the bell | He
learnt the truth through the ﬂy'nwituém His son rode a chariot over her calf
killing it instantly. Manunidhi did not bat an eyelid. '
The king ordeped the chariot to be driven over his son !

As the entire kingdom bore witness to the sight of the young prince, who was
about to be crushed by the chariot, the gods thempsalves descended to earth,
stopped Manunidhi and saved his son. The king was happy, but he was
distraught at the cow's loss. Legend goes that the cow, moved h]r. the king's
righteousness, licked her dead calfback to life.

8%, Who was the culprit in this passage?
(1) one of the courtiers
(2) the cow's master

(3) the king's son
{4) one of tha soldiers

Choose the most appropriate title for
this passage. '

(1) The Kind King

{2} Manunidhi Cholan the Great.
(3) A Cow seeks Revenge

»

(4) The Rightequs King ° 84 How did the king knew about the

What did the king do to dispense

Jjustice?

(1) He started courts of law.

{2) He installed a bell at his palace

{3) He saw that his subjects did not
have any disputes. -

(4) Hewasa very just king.

[17]

erime? ;
{1) Through the secret service staff
(2) Through the people who saw the

eriminal act

. {3) Through his ministers

(4) Through the cow

P.T.O.
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An appmunh Bl A icsinicrmesnis 88,

(1) a method behind it

(2) learning principle behind it

(3] some language patterns
behind it

(4) a technique behind it

How many syllables mthare in the

word, 'examination?

(1) Three

(2) Four #0,

(3) Six

{4) Five

One of the problems of teaching—

learning Englishis ......cccccoeee .

(1) the supplementary reader
' prescribed
(2) the English reader preseribed
(3) the lack of a conscious effort on
the part of the learner |
(4) the workbook prescribed

[18]
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What kind of situation can you use
to teach sentences in the present
continuous tense?

(1) Situations describing events at

home

(2) Classroom situations

(3) Situations covering events in

the village / town.

(4) Situations covering events in
the society

We teach Englishas ...

(1) askill subject.
(2) dn information subject

(3) a bilingual subject

(4) aknowledge subject

A radio lesson helps pupils to leard
(1) an audio aid

(2) a video aid

{3) a multimedia aid

{4)" an audio-video aid
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PART-IV
MATHEMATICS

BDDI{I_.ETO
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91. Out of 500 pages of a book, 1™ is

read. The number of pages still to
be read is ..o

500 paseo e w3 pnmas® 1 sote
EERdl ook ol SRR e

(1) 400 (2) 300
(3) 200 (4) 100
The angle formed between the hands

of a clock, when it shows the time
4o'clockisafan .............

(1) reflex angle

(2) acute angle

(3) obtuse angle

(4) right angle

w¥ HAchrtnes &' Sodinis 4 Nowes
Brlsge, crOE% Swese Safh D
(1) Somss S

(2) s, S

(3) wby Sfernn

HAI' eos St

Raju is older than Ravi by one year

manus one day, [f Raju was born on
1% January, 2012, then the date of

(1) 2 January, 2013
(2) '31* December, 2012
(3) 2° January, 2011
{4} 31* December, 2011

19}

=]

e, OO B 18 Ol B0 £ oyt
Bl A, o 550 1, 2012 5 el
(1) a8 2. 2013

I_:E) Mot 31, 2012

(3) w0 2, 2011

(4) Showtic 31,2011

A bar graph is drawn to the scale
1 em = 10 units. The length of the
bar representing a qumﬁiy of 52
units (in cms) 18 ..o
et oder Diiisos 1 2o.00. = 10 dbrde
sy et fatbeadssd. w §h.>;152 o T
o DB, o 5hd Adtsels
(1) 10.4 (2) 3.2
(3) 6.2 (4) 5.2

Of the following numbers, the

number containing factors only 1,
and itselfis......

S b Sopye’, 1 ain &b Sopy

(1) 59 (2) 69
(3) 39 (4) 49

P.T.O.
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The Hindu-Arabic number
equivalent to the Homan numeral

LXXTX 15 ..ceviaees

LXXIX e B0 omys 5509 Dasd o

(1) 69 (2) 81
(3) 61 (4) 79

The number of students in a school
iz 425. On a specific day, if the ratio
of students present in the school to
the students absent in the school is
15 : 2, then the number of students
present on thatdayis......

o e &0 Dorgtie oy, 425, S
e Gleeln, omes Sfetout Sedoin

et e w0 Tyl 15 : 2, eoosses Bl

98. If Raheem purchased 5 kg 250 g of | 100,
potatoes, 2 kg 500 g of brinjal and
250 g of chillis, then the total weight
of all the vegetables in kgis ._.........
tro 5 L, 250 1. womeisciiens,

2 3. H00 gr. Sozvaibeiis Sxlas 25H)
MRose Jolho SR el 5y doodho
(1 7 (2) B
(3) 6 (4) 9

_91. Wa rectangular shaped cardboard | 101.
is rotated along its length as an axis,
then the shape formedisa........
(1) cone (2) circle
(3) sphere (4) cylinder
et Doty eiion® o o0 IS
(1) %oy (2) S
(3) Rsas (4) drsais

98. If 50% of 50% of a number is 50,
then the numberis ...........

&8 Sop: 50% oty 50% Jed 50
RO RSO e '
(1) 200 (2) 100 : i
(3) 400 (4) 300 (1) 385 (2) 60

: 5 4) 395

99. The length of a rope is 83 m. If it is L i
cut into 7 equal parts, then the | 102
length of each piece of the rope in
metersis .........
nE g iy 83 Do, o0d T e
EPTETT DRSiS, DS (4 joeess oo,

4 g

(1) 5 (2) 4

5 7

(3) " (4) 1
W-801/TET-111-EM/TM |20

Of the following fractions, the
fraction less than § and greater

t-han& '\ T
1 17
(D 15 2 54
w25 1
@ 34 4 3
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103. If all factors (divisors) of 128 are
arranged in the ascending order,
then the sixth divisoris ............
128  Geolf, ey FerolSaois
(wrerswes:) 530 PId ebfine

.ww,ﬂwﬂﬁ:ﬁ

(1) 32 (2) 16
(3) 128 (4) 64

104. The maximum number of points of
intersection of a circle and a triangle
is 'm’ and the maximum number of
points of intersection of two
triangles is 'n'. Then the value of
manis..........

LY Gy, (Gfostioes podotnSHm
DEhHEH poli Delipe NBY Seg 'm'
Sl Dedly et pedaticstim
D potss Dotiipe NGiSow; 'n' ecss
[ -~ .

(1) 8 (2) 6

(3) 12 (4) 10

105. If the average of four numbers is 16
and the average of five other
numbers is 25, then the average of
all numbers togetheris .........

4 Some 300 16 Sobdin 5 30 sope
P 25 escuoty v Toolitu Homen HomD
()
(1) 20.5
(3) 41

(2) 9
(4) 21

W.B0L/TET-111-EM/TM
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108. John wants to exchange his
rectangular plot for a square plot
of the same area. If the dimensions
of the rectangular plot are
B0 m x 20 m, then the side of the
square plot he receives (inm)is .......
s B Agooetdrd god Honaats
el Eege e Sl el i
Bsubomi, e AESBBITY Jon
Setieo B0 o x 20 bo. e et el

(1) 20 (2) 40
(3) 50 (4) 30

107. If the fractions
: 115 T

bbb § are

] in ascending order, then
their order willbe ..............

b1 B § oS uthon good’

P.T.0..
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108. The difference between the place | 111. The number of lines of symmetry

values of digit '2' in the number for a sqUArE IS ..ceeeeeene,
bo vl g T ) ﬁ“ﬁ:t”;ﬁ:ﬁ!‘ﬁiﬂﬂﬂ#ﬂlﬁ?ﬂmﬂ
32512 g% w2 '2' Qo % Deste (1) 2 (2 1
'~ S ‘(3) 4 (4) 3
(1) 1988 (2) 1969 112. The number of trees that can be
_ (3) 1893 (4) 1998 planted along a road of length
108. The weight of two boxes together is 10 km, when the distance between
5% kg. If one box weighs gg kg, two trees iz tobe 200 mis ...........
then the weight of the other box Dol Ty ol St 200 a3, Spotasiay
(10 S T — . 10 8.2, iz fio Bt Dewd Truaio De'
M :@w % 5% !'EP- mﬁ' - M rrrrrrrrrrrrr
(1) 50
5 30 ot 2] 377, wouss Botss 3D %) 61
RS (M ypant’) (3) 20
35 103 - (4) 500
(1) 12 (2) BT Y _
113. If 999999 is divided by 99, then the
69 391 quotientis ............. '
(3) vy (4) 24 :
999999 &3 Soppic 99 3 oS Shy
110. If Rajani bought & radio for Es. 500 SIS s
and sold it for Rs. 450, then the loss (1) 111 (2) 10101
obtained by her in percentage C(3) 11011 (4) 10110
B8 esssnnrssannn 114. If 11 books cost Rs, 121.55, then the
vel ¥ BADFL tr. 500 e B9, price of each book in Rs.is ...........
B, 450 o st wousk Lle B T s R b
et Tl e e e
Uy 28 v (1) 125 (2) 115
% o (3) 11.05 (4) 10.05

W-S80L/TET-111-EM/TM [22]
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METHODOLOGY
115. The purpose of cunduttfng a ﬁmﬁmﬂ%@ww
diagnostic test on a pupilis............ B
(1) to know the behavioral changes s
of the pupil (1) Bgrisotiso
(2) to know the achievement level (2) Sextese
of the pupil
3
{3) to know the innate abilities of l’..]ﬁﬂﬂ
the pupil : (4). gone
the st h d '
U2 o Rdur. e moay e 117. If the pupil makes mathematical
weaknesses of the pupil in the
. content models, diagrams and charts, then
ﬁ'haq;ﬁnﬂmaw:mﬁ this specification comes under the
Lo objectiveof ............
C (1) Do Gl OGP SRtinokn el
dessficnnt (1) interest
(2) Dorgl Glaoly, Segar Sposed) Nobed {g}:h';]
- (3) application _
(3) Jomd o), webbD Wi fled
DoiiShiand (4) appreciation
4 e el ;
F POl - _:ic?g; RS OLOLRS e, S
_ SoBoti Trtibes Do HOPCs DMD - e
116. The closed figure of the highest area »
among the following figures of the it 64 oy08 DolioBaol .. ..cooco..
EAME perimeteris a .....ooweeaees (1) wisd
(1) rectangle
(2) square ) g
(3) circle (3) efmcie
(4) triangle @
W-B0L/TET-111-EM/TM [23] P.T.O.
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118. The formula for finding the area of ‘o Siho O SEPS i potror T
a triangle using the side|  ouowageEacuay - ud EEREEDS
measurements was given by .......... 0 .

(1) René Descartes (1) priecnS Sove
@ B Wl
i ® 3*3or
s e (4) 255 2wme

Y Gbe oo o0 fore b
120. The book, 'Spirit of Geometry' was

R AP, SR TR e
written by the Mathematician, ....... .
(1) Was
. (1) René Descartes
(2) ar3l
@ £ (2) Euclid
(4) wpwont (3) George Cantor
(4) Blaise Pascal

119. 'T'wo similar segments of a circle are
in the ratio of squares of their ‘!ﬁuﬁﬂmﬁ‘ oS o B0eTis Neldy)

chords'. This was proposed by tl:m L7 S

following school. (1) Hasg

(1) Pythagorean school (2) ceriS

(2) Ayonic aschool (3) "'ﬁ?‘”‘ﬁ
~ {3) Plato school 4) ?w

(4) Sophist school

W-80UTET-111-EM/TM [24]
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PART-V
ENVIRONMENTAL STUDIES ~ BOOKLET @
121. When we observe the parts of a | 123. The suspended particulate matter
Datura flower, the swollen part over {(SPM) in the air due to pollution
the pedicel 18 ... BB tseimeninii
(1) Thalamus (1) nitric oxide
(2) Gynaeceum (2) sulphur dioxide
(3) lead and soot
* (3) Placenta
. (4) water vapour
(4) Androecium e
Taslye e mDE 50 Tew tratiadpra:
e ol vy s S0MDo TS, 1) 28 B E
RpEHOto Dok Gl G0% EMS ..veuies @) debzeat
(1) S0 8 Sse,
" e lﬂd.xpamuinwmﬁngtu!maumtha
(4) S air pressure in the tyres of his
122, The bud, located at the tip of the vehicle. The instrument usefal for
stemiscalled .............. LT C— |
(1) leaf bud ﬂ_} Sphygmomanometer
(2) axillary bud (2) Cistern barometer
(3) Aneroid baromete
(3) lateral bud - '
3 (4) Deflection magnetometer
(4) apical bud -
Rl 5d, edsd Tnie dloy, DuED mB
Tode T Tl &ol Shama (2uolf) :
(1) g RSB e
(2) st (1) tyfretoub
(3) ﬁ't&i‘ﬂﬁb» (2) %mﬂ
(4) et (3) eDoonE s
(4) ealiiitors esolion,clh SIS0

W-B0U/TET-111-EM/TM [25] P.T.O.
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125. In a fire accident, the entire skin

and muscles of & person are
damaged, The burns are called .......
(1) second degree burns

(2) third degree burns

(3) ordinary burns

(4) first degree burns

e e

25 e Tanl 30 80P s
(1) Bgfacis % ones
(2) dnpdcic 5% Tenos
(3) rqrbics oo

(4) ool i ey

a

126. The chemical equation relating to

the Clark's method for removal of

(1) Ca(HCO,),——2CaCO; +
2H0

(2) Ca(HCO,),——CaCO,+
HO0+CO, T

(3) Ca(HCO,), + Na,CO,——
CaCO, +2Na HCO,

(4) Ca(HCO,), + Ca(OH),—
2CaCO, +2H,0 -

[26]
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127. This is a submerged aquatic plant.

(1) Vallisneria
{2) Lotus

_ (3) Pistia

(4) Water Lily
20 SO taalh ded ¥ B 2o,
(1) S e

(2) ol

(3) et

(4) et

128, Vital functions of our body such as

heartbeat, respiration etc. are
under the control of the _.......

(1) cerebellum

(2) cerebrum

(3) medulla oblongata

(4) spinal cord .

5 00d® pallh Smaiihelsi, Tdiddin
Sedd s goed B3 esfiood® souran.
(1) eshosolasy oo

(2) Saipyaon

(:3) :ﬁaqﬂmlﬂﬂ

(4) ‘&ﬁ::e'-‘m
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129. This country is called 'Land of
Rising Sun'.
(1) France
{2) China
{3) Japan
(4) England
B TN “SSCon BPta Gr’ ™
RN,
(1) ==y
(2) ==
(3) edo
(4) qenok
130. The height of Mount Everestis ......,
(1) 4,588 meters
(2) 8,848 meters
(3) 8,884 meters
(4) 8,888 meters

G RO MY e "
(1) 4,888 Sowstic

(2) 8,848 foestw
(3) 8,884 Jueti
(4) 8,888 Juestio

131. The title of Rajendra Chola was ......
(1} Maligai Konda
(2) Purai Konda
(3) Nagari Konda
(4) Gangai Konda

Oeys Soad DD .v..voveeees
(1) S et

(2} $RFou

(3} 5nd5%i

(4) Nt Sots

F‘-ﬂulrI'ET. 111-EM/TM
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132. The emperor Akbar divided his
kingdom into .............
(1) Suba
(2) Mukti
(3} Ikta
{(4) Mandal -
et IS G5 IvEremyT 5ee Do T
(1) Hoee
(2) 503
(3) g
(4) Soalibe
133. The imaginary lines which'connect
the north and the south pole is

(1) longitudes
(2) latitudes
(3} equator
(4) orbit

(1) Sppomes
(2) oo
(3) gortelle
(4) =5,
134. The 'Grand Old Man of India’

| A — -

(1) Dadabhai Naoraji

(2) C.R Das

(3) Gandhiji

(4) B. . Tilak

'8 grol LEurS ef golair m STaua.
(1) crorgpass T8

(2) %. esb. ol

(3) meds

(4) 8. &. ok

P.T.O.



WWW. previouspapers.in

135. The literacy rate of Andhra Pradesh

as per 2001 census was ............. .

A 2001 emrr B350 BTe wol B0
(1) 74.72

(2) 68.22

(3) 61.11

(4) 89.00

136. The person who fought against the

social evil, ‘Sati'was ..............
(1) Raja Rammohan Roy
{2) Jagadish Chandra Bose
(3) Gopal Erishna Gokhale

. {4} Subhash Chandra Bose

137.

W-B0LTET-111-EM/TM

i Rt Srclul Soovoronth S OGRS |

AT e
(1) oe gt o
(2) enibs Sops
(8) Ridro Ha s
(4) Boerl o &5

The way of life that gives
importance to traditions is ...
(1) culture

(2) literature

(3) sculpture

(4) arts

BOOKLET @

138. The early man first used this as
weapon to hunt animals.
{1} gun
{2) stone
(3) arrow

{4) sword

esBsio St BotspUhs SOt Ese
Tt A0 dBEPReTrs,
(1) duded
(2) oo
(3} o
(4) =&
138, The meetings of the Rajya Sabha
are presided over by the ..............
(1) Vice President
(2) Prime Minister
{3) Speaker
(4) Prmd&nt;

(1) ssoge
(2} e5es oo
(3) hpnb
(4) oped
140. The first novelist in Kannada
{1} Prem Chandra
{2) Jaya Chandra
{3) Nemi Chandra
{4) Hema Chandra

s S Ralied SSe TN e
(1) B8 Seis -

(2) es0lia Sos

(3) S el

(4) Erms e

[28]
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141. According to movement, the joint | 143. These nutrients are mainly useful

present in our Knee is ........... to us for health and proper

(1) aliditg jaint functioning of our body and also

. i protect us from diseases.

(2) immovable joint.

] o (1) Proteins
0 Mg (2) Carbohydrates
{4) pivot joint (3) Fats
sebsss ngd s 2orestised e ..., (4) Vitamins
(1) mod fes 30 o wdond effmp,  iEom
(2) 290 3o SEGE SRR SaEs Y e
(3) oot e (1 )
(4) Sortiy deo (2) ot 3oy

142 When a boy is playing cricket with 13) B

his friends, his respiration rate per () Sessg
minuteis. ........... 144. When a person opens the glﬂctriv:

(1) more than 18 times i:imu.it-.ﬂ'lrecurmtﬂuwwiﬂ...m....

(2) less than 18 times {1)-incrense

(2) stop
(3) varies from 8 to 18 times
; (3) vary
(4) mnut?ntl}r 18 times (4} d

mm@@ﬂﬂ@ﬁw. &2 58 Dt Sedibs Gl Sogritasi

(1) 18 s Jay 5 e o —
(1) 2omteed
(2) 18 o, iy s D
{2) eshfdoad
(3) Broad 18 2 wrtisho
T (3) sortotood
Ll (4) Bissod

W-801/TET-111-EM/TM 23] . P.T.O.
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146. The

W-80UTET-111-EM/TM

145. The learning experience at the

bottom of the Edgar Dale cone of
EXPETIENCE ATE .....ccvvvnn.

(1} exhibits

(2) verbal symbaols

(3) direct purposeful experiences
(4) ﬁe]d trips

(1) BEto S

(2) wie scores

(3) g wrclre? ebudioroo

(4) B Stpsiins

‘ of

main pu!'pqlsa

‘Recaptitulation' during the

teaching—learning process is ..........

(1) to categorize weak and strong
students in a subject

(2) to know the achievement of
teaching ohjectives

(3) to report to the headmaster
about the standards of students

{4) tostart remedial classes

147.

(30]

(1) :}I:i'sﬁg:m ahvapdy balT mooodhats
Soliin pelriopam sfsotie h5e
(2) S egrye 4 Nodod Desistise

HIE‘smm:mngﬁa

B0

The selection of a method of
teaching depends on the .............
(1) medium of instruction

(2) topic

(3) teacher

(4) timings of the period of teaching
Somr S50 aloty, IE 832 ua:-:a‘-&-c'.‘-
(1) e amgyson

(2) oo

(3) Emrgrciionts
(4) LocnEs shes el siodie
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148. A book on 'The Story of Earth’'

belongs to the following category of
books in a school library.

(1) background books

(2) prescribed textbooks

{(3) refercnce books

(4) supplementary books

Do Do, N e pNse Dvwo
Hegraciood® H DEpricsth Sowefell
e Detiotiood,

(1) Rt i

(2) 282005 Juspies

(3) sortoty pogres (305 wiTe)
(4) oo pimes '

148. 'A student is able Lo give examples

for the concepis learnt in the
classroom.' This statement refers to
the following objective.
1 (1) Understanding

(2) Knowledge
(3) Skill
(4) Application

WWW. previouspapers.in

(1) et

P{EJ e

(3) gRorae
(4) DodNe

150. "The knowledge of temperature,

pre;asura and _h.ul:n.id.it.].r'.];.elpﬂ_ in
understanding the climate of a
region.’ This statement refers to
correlation between the subjects, ....
(1) Science and Geography

(2) Science and History

(3) Science and Fine arts

(4) Science and Crafts

_-aigga.ﬁc:um-émm.

(1) Jepiriie - PROI TS
(2) Do - 0©
(3) Degmro - e
@) Doy -2

[31]

WWW. previouspapers.in



